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Group Statistics 

 

VAR00002 N Mean Std. Deviation 

Std. Error 

Mean 

 2.110 7.309 49.17 12 الطريقة أ عمر البطارية

 2.025 6.402 41.10 10 الطريقة ب
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Independent Samples Test 

  

Levene's Test 

for Equality of 

Variances t-test for Equality of Means 

F Sig. t df 

Sig. (2-

tailed) 

Mean 

Difference 

Std. Error 

Difference 

95% Confidence 

Interval of the 

Difference 

Lower Upper 

VAR00001 Equal 

variances 

assumed 
.194 .665 2.724 20 .013 

 

8.067 2.961 
 

1.890 14.244 

Equal 

variances 

not 

assumed 
    2.759 19.931 .012 8.067 2.924 2.699 14.168 
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1  

 2
2= σ 2

1: σ0H 

2  

2
2≠ σ 2

1: σaH

3  

.665.05 

 

4  
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Independent Samples Test 

  

Levene's Test 

for Equality of 

Variances t-test for Equality of Means 

F Sig. t df 

Sig. (2-

tailed) 

Mean 

Difference 

Std. Error 

Difference 

95% Confidence 

Interval of the 

Difference 

Lower Upper 

VAR00001 Equal 

variances 

assumed 
.194 .665 2.724 20 .013 

 

8.067 2.961 
 

1.890 14.244 

Equal 

variances 

not 

assumed 
    2.759 19.931 .012 8.067 2.924 2.699 14.168 

6 

H0: µ1 = µ 2

7  
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Ha: µ1 ≠ µ 2

8  

.05 
9  

2.724 

10  

      .013 

11  

2.961 
12 

8.067 
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